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Proton-to-Electron mass ratio: 
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The above equation can be rewritten as follows: 
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Electron’s charge: 
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Fine structure constant : 
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Electron’s mass: (φ has a dimension of Time in sec) 
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Electron’s Compton wavelength: (φ has a dimension of Time in sec) 

 

λe = 
2

10 20
c×× −ϕ

= 2.4253 x 10
-12

 m (official value = 2.4263 x 10
-12

 m) 

 

Electron’s Compton frequency: (φ has a dimension of Time in sec) 
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Electron’s energy: (φ has a dimension of Time in sec) 
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Proton’s mass in relation to the Planck Mass: 
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Proton’s diameter in relation to the Planck Length: 
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Proton’s mass and proton’s diameter in relation to the Planck Constant and the speed of light: 
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Proton’s radius (measured with muon): 
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Proton’s radius (measured with electron): 
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Proton’s mass: 
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Proton’s Compton wavelength: 
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Proton’s Compton frequency: 
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Proton’s Energy: 
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Gravitational coupling constant : 
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